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Il Semester B.Com. Examination, November/December 2018
(Semester Scheme) (CBCS) (F + R) (2015-16 and Onwards)
COMMERCE
3.6 : Quantitative Analysis for Business Decisions — I

Time : 3 Hours Max. Marks : 70

Instructions : Answers should be written completely either in
English or in Kannada.

SECTION - A
1. Answer any five of the following sub-questions. Each sub-question carries
2 marks. (5%2=10)
a) What is a linear correlation ?
b) What are the regression lines ?
¢) State the components of time series.
d) Expand (y —1)°>=0.
e) What is sampling distribution ?
f) What do you mean by population of universe ?
g) What are independent events ?

SECTION -B
Answer any three of the following questions. Each question carries 6 marks.
(3%x6=18)
2. Find the rank correlation for the following data and give your comments :
Marks in Accounts (X) : 84 | 56| 89| 58| 59| 67| 74| 78

Marks in Maths (Y) : 38| 69| 56| 58| 63| 78| 87| 77
3. You are given the following data :

Variables X Y
Mean 47 96
Variance 64 81

Correlation co-efficient 0.36
between X and Y '
Calculate the regression line X on Y and also calculate X when Y = 88.

4. Interpolate the exports made in 2014 from the following using Binomial
expansion method.

Year 2012 2013 | 2014 2015 2016 2017
Exports (Crores ¥)| 210 230 ? 280 300 350
P.T.O.
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5. What are different non-probability sampling techniques ?

6. The probability of an Indian having a car is 26%, the probability of Indian having
a house is 40%. The probability of Indian owning a car and a house is 18%.
What is the probability that Indian owns a car or a house ?

SECTION -C
Answer any three of the following question. Each question carries 14 marks.
(3x14=42)
7. From the following table, find out Karl Pearson’s co-efficient of correlation
between age and reading habits of students.

Age : 15 16 17 18 19 20
No. of students : 250 200 150 120 100 80
Regular Readers : 200 150 90 48 30 12

8. From the following data :
a) Calculate two regression equations.
b) Estimate the value of X when Y = 80 and Y when X = 90.

c) Determine the value of correlation co-efficient through the regression
co-efficients. :

X 40 48 52 68 72 .
Y 20 24 28 36 52
9. The following are the annual profits of a certain business.
. Year's 2011 | 2012 | 2013| 2014 2015 | 2016 | 2017

Profits (in'000’s) | 65 | 77 | 80 | 70 | 85 | 90 | 100

a) Fit a straight line trend to these figures by the method of least squares.
b) Estimate the profit for the year 2021.

¢) Plot the actual and trend values on a graph.

10. Estimate the steel production for the year 2013 and 2015 with the help of the
following table :

Year : 2010 | 2011| 2012 | 2013| 2014 2015 | 2016

Steel Production
(in 000 tonnes)

150 180 220 ? 330 ? 450

11. The following are the annual premium charged by an Insurance company for

a policy of Rs. 1,000. Estimate the premium payable at the age of 26 by using
Newton’s method.

| Age (in years) 20 o 30 35 10
| | Premium (3)
(for 1,000 policy) 23 26 30 35 42
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1. NS SRPTOTTR 50 GoB BIVR Z0r. B e FIT oo wosnth.  (5x2=10)
a) wotie D3I BRI (DeAOWT®) BRI DOTITEI ?
b) &ooTon Sesdndosdesd 9
C) AROODT RTeF0L ¢ O?J)ﬁm'cﬁ) EPA.
d) qtjdz{ RO (Y~ 1) =0.
e) TRTWO DTTFHB LOTTERD 9
f) 2t esdeesnd ﬁ'ﬁo:«fa&"’ SHETCT ?
9) B80T P 20T ?
QWO — W
FITOR O3RR)TITITR TIATY BInort wu3o. B TIN5 03T, (3%x6=18)
2. 89508 QETNPoT Fees B ﬁuuod:’)& %cﬁa%o@umé T T30, QR
SITEEOR wosnex (X): | 84 | 56| 89| 58 59| 67] 74| 78
nedgzes d@&‘ wozngd (Y):| 38| 69| 56 58 63 | 78| 87| 77
3. 3o 3RS &ddﬁ%@% QeTSINT :
kle; X Y
ylepyte 47 96
D3 64 81
X3 Y e 8eas dzmowes 0.36
e getant:] '
X B8 Y T &oBeson REBOEITI), BOTORWEROWD, Toriodde, Y = 88 snen, X 8
WSODT ToBILROWD.
4. $INT QFTMPOT AN DFTB AERSTY, 2014 e IR e TP, FordREROWD.
SR 2012 2013 2014 2015 2016 2017
d@ 300 S, ﬂ%*@m 210 230 ? 280 300 350

5. RoydeRecddZobu s DO SR S0 e cIReR) 2

6. .&w LTSI Fd'ﬂa BRODTT ROWHACCHT 368 26, BITOND. Erod3D
RoEReoDNS B3z 40. mw R T QOTIR, BROETES Fowmneodd 308t 18,

TN 1780 T30 uc;ﬁm atw BRoOT Noug:o"wecua odoed 9

http://www.onlinebu.com


http://www.onlinebu.com
http://www.onlinebu.com

http://www.onlinebu.com

SS - 473 4. U 00 e

QTN = X
390 CINT)TRTEIR WA FBnert eugos. B3 TIR Bamewy, wosrb.
7. 89503 Bedoooss N apRaly sl ﬁo:o,\o 08y

(3x14=42)
T30 “v’m NE QUIT RBROWOT

‘Jﬁﬁ)w%dﬁ) Pl wOCbUEﬁdd Cbmwd@ iﬁ)uﬁu&w&ob

53&33,02} 1 5 16 17 18 19 20
&Dmﬁtgﬁs'ﬁe; ﬁc}ai’ﬁ : 250 200 150 120 100 80
QoW LTHNTH 200 150 90 48 30 12
8. 3J50@ RN :
a) VR &owOToD ﬁmeédsaf@da BOTHLROWD.
b) Y =80 o X 8 e3¢ S5, ai)ua X =90 vman Y& eIdoda) ) SOTA.
c) &owoPoDd Nﬁmwén’d aﬁx\w RBAHOOG rbsaﬁd\ > ﬁnww%wa.
X 40 48 52 68 72
Y 20 24 28 36 52
9. 980T DTN, B R TEOT T T RPRTONE,
SR | 2011 2012| 2013 | 2014 | 2015| 2016| 2017
&yIned (000 S, ﬁ@@m ) 65 77 80 70 85 90 100

B3 €903 03NS AFTODOOT ¢

a) BIX, FNF ATOTFO_ 20T Fe3 Feadodd B SE0DTY, BRoDY.
b) 2021 Fe S5 3 U\?ﬁd& 203023,

C) DT W B3 ﬁj‘aei ned Seaoo DY ROTER,
10. 89r 883003 Wespo0e3 2013 308 2015 Se IRF AT QUTITIODT) oz TRA.

= : 2010 | 2011 2012 | 2013 2014] 2015] 2016
200" VTITI :
! 3 150 | 180 | 220 | 2 | ss0| 2 | 450
| (1000 325740
[

11, de. 1,000 R¢ mOMK SRR domacned HOIEIE At 8360803 DG
6%05@0&&3 26 Se DoAFY BeIer 2400030, SR,EVT[S DTOROOT 0T

3033»24 (SRFRYY ) 20 25 30 35 40
&,¢200300 (8. 19 )
| (2. 1,000 ey | 2 26 30 35 42
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